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Grade Nine Mathematics
Unit 4 Review

Name:

1. Using the equation A = 3t — 5, what is the value of A when t = -2?
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2. Which relation below is linear?
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3. Which is an oblique line? 0? var.ob\e§
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D) 5x = -20

4. Which equation represents a vertical line? (UG ‘H\e A-&Xig
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5. What is the equation of the line graphed below?
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6. What is the equation of the graph shown?
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7. How many line segments would there be in figure 10?

Figure 1 Figure # _(: # Segments S
1 5 . Y (I
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8. Rachel takes care of homes during the summer while their owners are away on vacation.
She charges $8, plus $2.50 a day. Write an equation that relates the charge, C dollars, to
the number of days, n, that the owners are away.
C: (g+250n oY C:Q.SOnT%
9. Match each equation with a graph on this grid. Show all workings!!!
Equation #1: y=2x-1 Equation #2: y=-x+4 Equation #3: y=3x-3
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10. Examine the graph, then use the graph to complete the table of values and find the

equation of the linear relation.
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11. The graph shows how the cost of a long distance call changes with the time for the call. A

grid is provided below if you need one.

A) Estimate the cost of a 7-min call.
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B) The cost of a call was $1.00.
Estimate the time for the call.

4.\ min

C) The cost of a call was $1.50.
Estimate the time for the call.
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D) Which question(s) above were an example of extrapolation?

Eomcl C btcause it was Ovigide bhe
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E) Which question(s) above an example of interpolation?
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12.  Graph each equation below:

A) y+7=-5 B) 8x =5 +y C) 14=9\+x
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14. Consider this pattern of shapes. O
Fig. 1 : E i E ;

Fig. 2 Fig. 3
Fig. 4 Fig, 5
A) Complete a table of values comparing Figure # to the # of tiles.
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B) Write an equation that represents this linear relation.
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C) Graph the relation.
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15. A Maid-4-Hire company charges a base rate of $60 plus $40 per hour that they clean.

a. Let n be the # of hours and C be the total cost. Make a table to show how the cost per hour. R\ C
| [1]>)
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3 |80
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b. Write an equation that relates the total cost to the number of hours.

c. Is the data continuous or discrete? D-\SCYE‘ e

d. Independent Variable: CO$'\ ] C

Dependent Variable: Nu Wl\)ﬂ' bc h OUYS, N

e. Graph the equation.
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f. Is this a linear relation? How do you know L RN
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g. What is the total cost for 7 hours of cleaning? %
=00+40n = 604280
20t M J = 4g3up

h. How many hours of cleaning would it take if the total cost was $440?
C= 60+Yon (™ 380=Un
440 = 60 +40n 4 "

o ~Go g.
380="1n (E




